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20.

The current price of a stock is 200, and the continuously comppunded risk-free interest
rate is 4%. A dividend will be paid every quarter for the next 3 years, with the first
dividend occurring 3 months from now. The amount of the first dividend is 1.50, but
each subsequent dividend will be 1% higher than the one previously paid.

Calculate the fair price of a 3-year forward contract on this stozk.

Due on Monday an @ Quiz ¥

(A) 200
(B) 205
(C) 210
(D) 215
(E) 220

olos
21. F; va 242
A market maker in stock index forward contracts observes a 6- month forward [ price of
112 on the index. The index spot price is 110 and the continucusly compounded
dividend yield on the index is 2%. S(0) =410 S =0.02

The continuously compounded risk-free interest rate is 5%.

r=0.05

Describe actions the market maker could take to exploit an arbitrage opportunity and
calculate the resulting profit (per index unit).

No- Q(bl\‘%e_ ..? : F;\y,_(ﬂ' Moe (0.05-0.02)(0.5)

Buy observed forward sell synthetic forward, Frofit = 0.34 @
)
(B) Buy observed forward, sell synthetic forward, Eroﬁt =0.78 » \L/
(C)  Buy observed forward, sell synthetic forward, Erofit=1.35 ® "
| ;~ Ry, (3) = 444.66
(D)  Sell observed forward, buy synthetic forward, Frofit = 0.78 % emm—
E ' (E) Sell observed forward, buy synthetic forward, Frofit = 0.34
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30.

Determine which of the following is NOT a distinguishing characteristic of futures
contracts, relative to forward contracts.

(A)  Contracts are settled daily, and marked-to-markgt. f
(B)  Contracts are more liquid, as one can offset an ij)bligatio by taking the
opposite position. j f

C) ) Contracts are more customized to suit the buyei’s needs. y

(D)  Contracts are structured to minimize the effects of credit risk. \/4

(E)  Contracts have price limits, beyond which tradiag may be temporarily
halted. v '

31.

DELETED

32.

Judy decides to take a short position in 20 contracts of S&P 5C0 futures. Each contract is
for the delivery of 250 units of the index at a price of 1500 per unit, exactly one month
from now. The initial margin is 5% of the notional value, and the maintenance margin is
90% of the initial margin. Judy earns a continuously compour:ded risk-free interest rate
of 4% on her margin balance. The position is marked-to-market on a daily basis.

On the day of the first marking-to-market, the value of the index drops to 1498. On the
day of the second marking-to-market, the value of the index is X and Judy is not required
to add anything to the margin account. ‘

Calculate the largest possible value of X.

(A)  1490.50
(B)  1492.50
() 1500.50
(D)  1505.50
(E)  1507.50
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69.

Determine which of the following statements about futures and forward contracts is false.

(A)  Frequent marking-to-market and settlement of a futures contract can lead to
pricing differences between a futures contract and an otherwise identical T
forward contract.

(B)  Over-the-counter forward contracts can be customized to suit the buyer or T

seller, whereas futures contracts are standardized.
( © ) Users of forward contracts are more able to minimize credit risk than are users .,
..’ of futures contracts. r

(D)  Forward contracts can be used to synthetically switch a portfolio invested
in stocks into bonds.

(E)  The holder of a long futures contract must place a fraction of the cost with
an intermediary and provide assurances on the remaining purchase price. T‘

70,

Investors in a certain stock demand to be compensated for risk: The current stock price is
100. :

The stock pays dividends at a rate proportional to its price. The dividend yield is 2%.
The continuously compounded risk-free interest rate is 5%.
Assume there are no transaction costs.

Let X represent the expected value of the stock price 2 years from today. Assume it is
known that X is a whole number.

Determine which of the following statements is true about X.
(A)  The only possible value of X'is 105.
(B)  The largest possible value of X is 106.
(C)  The smallest possible value of X'is 107.
(D)  The largest possible value of X is 110.
(E)  The smallest possible value of X'is 111.
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